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Harmonisation of AMR configurations
1 Introduction

TSG GERAN have received a Liaison Statement from TSG SA4 (GP-040893) on Harmonisation of AMR configurations. TSG SA2 and SA4 are considering defining one common configuration for AMR codec modes for GERAN and UTRAN in Release 6, in order to enhance the support of TFO/TrFO, in particular for calls between 2G and 3G.

TSG SA4 are coordinating this task, and are asking TSG GERAN to indicate any potential issues with reducing the combinations of AMR modes to a single set.

2 Limitations from GERAN
The first point that should be mentioned in the reply LS from GERAN to SA4 is that the size of this common set should be limited to 4 modes, which is the maximum size of the active codec set in GERAN.

Another issue that should be pointed out is that AMR mode 7.4 for AMR HR is not recommended. As explicitly written in 3GPP TS 48.061, this codec mode shall not be used for initial synchronisation in case of 8kbit/s submultiplexing. The reason is that too few bits are available for synchronisation (6 bits only) and it would induce long delay at handover to recover synchronisation.
Here is the excerpt from 3GPP TS 48.061, §6.8.2.1.2

“The frame synchronisation for the speech frames for codec mode 7,40 kBit/s is obtained by a 6 bit pattern, which is indicated below by all the bits set to binary "0" or binary "1". This codec mode shall not be used for Initial Synchronisation, the recommended solution is to user a lower code mode or No_Speech frames:
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“
Therefore, AMR 7.4 mode should not be included in the common set.
3 Conclusion

In the reply LS to SA4, GERAN should indicate the following:

· size of the common set should be of 4 modes

· AMR 7.4 mode should not be included in the common set. 
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